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public class Mine

{

public
public
public
public

private static int idAll = ©;

bool isMine;
int neigbors;
bool visible;
int id;

public Mine()

{

isMine = false;
neigbors = 0;
visible = false;

id

= 1dAll++;
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Mine mine = new Mine();
if (mine.visible)

{

Console.WriteLine("Mine is visible");

}

mine.neigbors = 5;
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public class Mine

{

private
private
private
private
private

bool isMine;

int neighbors;

bool visible;

int id;

static int idAll = ©;

public Mine()

{

isMine = false;
neighbors = 0;
visible = false;
id = idAll++;
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public bool IsMine()

¢ return isMine;

gublic void SetMine(bool mine)

¢ this.isMine = mine;

;ublic int GetNeighbors()

¢ return neighbors;

gublic void SetNeighbors (int neighbors)
¢ this. neighbors = neighbors;

}

// Here come the rest of the methods
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Mine mine = new Mine();
if (mine.IsVisible())

{

}
mine.SetNeighbors(5);

Console.WritelLine("Mine is visible");
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